Exqc_?s< A

39 r o=
r'l.

x* x

\

2
4
y T4

34) oz 4abanbisect
44‘. S;‘-\U‘

H

r

(,oSLD'
C Coszg"

| = 4arsi0

r‘?' 5551@'

| = 449

X = ¢ cos@-

4 I S8
r _ z 2
ro- Xty
G = accbkon 2)
>

o328 = [~2526
ZS'I-—\.‘L@- = 1 —C6§ZG~



h
(B

36) v = 2-"\4456"

V.l = Ze&(‘c«s@—

xsz--az = Zi =<

31\) v = Zcosz@

r3 = 2 0st 8

(’Cz*f);’l =2 "

da) xeqcL 4e)  (xay) 22y
Cr ) Z 2V toes@<imB

44') xy= o= $1n 28

r."L

rCOS&rS’(A(S. = 4

* sia 7 2
Y Stn 2 —a 4M> . +t3 - DA
b
re=_% o 2
g\v\Z@- . Z
r = (5
f'L = gc55z¢2<9~ rcos

ro= Z.Co,{@




Ae) (x+9"=2 4£) Dc—-‘3: 3
,Xirl-l{_d- 2—’(3 - 4 G('_‘:))

T

v+ 20T es®sB8 = 4

>C *:) - 2.:(3: C{
— 2 tosGsnB = &

rToE rosw28 - 4

rl( l+sin20~> - 4

2 L
r (' -shew) = q
rz_ _ -
| 4 sin20 L
! ~sia2 8
4 '# & {‘E'Q./'A-\G.Ll'v{ So ’b‘(’l’ov\ \'\]&r‘h:-—,r)!
X -3 = 3 S‘L"““"’j " alove
rcos® ~rga.l@ = 3 Sole€ion tnbrahucey
r(c,s;e—,_ 5:2(9—) = 3 extra lv..‘{,(,,,,’,r',tke

velues ‘

Cosa “S\Fﬂ@- = _:37

'—f’s&——_i- h@-
f{(dm L )

[z (CGS(@")" Q)) = _3;_

rfz = 3
cos(6+Z

rfz = 3 Se:c(&—l-g

r= f_5<c(8_4—)

Aj) Y = 2x

rem® = 2resd



é"\v\a' = 2
B = arcEan 2

L)
4 f:)’: —ﬁ—x 4+ e
(34--/75_': = «
rSwml +J3¢ces® =

Sl:\& + ﬁcas& =

ﬁws& 4+ Sixs86 =

2 |
2[ﬁccse +_L sa‘.&) - A
> 2 p= J_3

s S|p P

o =TT
2 Cos(@—g) - & <
s
r c A
2 cos(6F)
r = &
zs‘c(&-%’)

4" ‘353(()6—&)
r S‘;\(g' = V‘cos@—( rcps & —-a)
é‘&n@"": rCDS@‘ — O

éav\& ,(—& = erS&
eﬁ.n& Ao = r
Los &
’ o= Q:m\ﬁl to) Seo G-




